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QUESTION 1

In your network design, you must ensure that all user sessions passing through an SRX Series device 

remain active if there is a device failure. 

Which mechanism will accomplish this design requirement? 

A. chassis clustering 

B. MC-LAG 

C. Virtual Chassis 

D. VRRP 

Correct Answer: A 

 

QUESTION 2

What are two valid reasons to enable route summarization? (Choose two.) 

A. to reduce routing overhead 

B. to reduce the coexistence of BGP with IGPs 

C. to benefit from a hierarchical IP addressing plan 

D. to enable the use of more than one routing protocol 

Correct Answer: AC 

 

QUESTION 3

What are two features used to enable high availability? (Choose two.) 

A. VRRP 

B. chassis clustering 

C. full-duplex mode 

D. SNMP 

Correct Answer: AB 

 

QUESTION 4

Which component triggers the quarantine of an infected endpoint? 
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A. ALG 

B. firewall 

C. Policy Enforcer 

D. switch 

Correct Answer: C 

 

QUESTION 5

Your campus network is rolling out a BYOD policy. Your design must ensure that guest users are restricted 

from accessing internal network resources. 

Which two actions would solve this problem? (Choose two.) 

A. Guest users should be placed in an isolated guest routing instance. 

B. Guest users should be placed in an isolated guest VLAN. 

C. Guest users should be placed in a non-isolated guest routing instance. 

D. Guest users should be placed in a non-isolated guest VLAN. 

Correct Answer: AB 
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